### Informational Report for the February 16, 2016, Board of Trustees Meeting

				New Emp to				Hourly		Maximum	Assign	Assign
Last Name	First Name	МІ	Site	District	Duties	Division		Rate	Maximum	Amount	Beg. Date	
Chabot College - Comn	nunity Educati	ion	1		1	1	ı	,				
DeLeon	Emerlita	nmi	Chabot	No	Teach ball room dancing	Community Education	\$	35.00	8	\$ 280.00	10/17/2015	12/12/2015
Forrest	Aaron	M.	Chabot	No	Teach swimming clinic	Community Education	\$	25.00	80	\$ 2,000.00	1/1/2016	6/30/2016
Kubicki	Greg	C.	Chabot	No	Teach swimming clinic	Community Education	\$	50.00	30	\$ 1,500.00	1/1/2016	6/30/2016
Kubicki	Jennifer	nmi	Chabot	No	Teach swimming clinic	Community Education	\$	50.00	30	\$ 1,500.00	1/1/2016	6/30/2016
Ramirez	Christina	A.	Chabot	No	Serve as life guard for swimming clinic	Community Education	\$	15.00	25	\$ 375.00	1/1/2016	6/30/2016
Rubino III	Jesse	A.	Chabot	No	Teach swimming clinic	Community Education	\$	25.00	80	\$ 2,000.00	1/1/2016	6/30/2016
Chabot College												
Andrade	Deverie	J.	Chabot	No	Provide specialized services for the Performing Arts Center	Arts, Humanities, and Social Sciences	\$	23.00	550	\$ 12,650.00	1/1/2016	6/30/2016
Ballew	Tracy	I.	Chabot	No	Perform specialized services for the Performing Arts Center	Arts, Humanities, and Social Sciences	\$	16.00	675	\$ 10,800.00	1/1/2016	6/30/2016
Barboza	Benjamin	E.	Chabot	No	Provide specialized services for the Puente Program	Student Services	\$	18.00	437.5	\$ 7,875.00	1/4/2016	6/30/2016

### Informational Report for the February 16, 2016, Board of Trustees Meeting

				New Emp to			Hourly		Maximum	Assign	Assign
Last Name	First Name	MI	Site	District	Duties	Division	Rate	Maximum	Amount	Beg. Date	End Date
Bidgoli	Mahboube	G.	Chabot	No	Provide language and speech consultation services to comply with Child, Family, and Community Services grant requirements	Children's Center	\$ 45.00	250	\$ 11,250.00	9/16/2015	5/15/2016
Bracey	Charles	E.	Chabot	No	Provide training workshops for PRIDE/CARI classes	Foster and Kinship Care Education	\$ 50.00	72	\$ 3,600.00	1/4/2016	6/30/2016
Campbell	Arvanderlyn	R.	Chabot	No	Implement college and career curriculum for the HPN Program	Student Services	\$ 40.00	72	\$ 2,880.00	1/4/2016	6/30/2016
Canady	Karen	M.	Chabot	No	Provide training for the PRIDE programs' foster parents	Foster and Kinship Care Education	\$ 65.00	72	\$ 4,680.00	1/4/2016	6/30/2016
Chan-Barrios	Emily	K.	Chabot	No	Perform specialized projects for the CalWORKs program	CalWORKs	\$ 50.00	437	\$ 21,850.00	1/4/2016	6/30/2016
Collins-McMurray	Amauri	C.	Chabot	No	Provide specialized projects for the President's Office	President's Office	\$ 20.00	650	\$ 13,000.00	1/1/2016	6/30/2016
Corbett	Ellen	M.	Chabot	No	Provide specialized projects for the President's Office	President's Office	\$ 130.00	80	\$ 10,400.00	2/1/2016	2/29/2016

### Informational Report for the February 16, 2016, Board of Trustees Meeting

Last Name	First Name	MI	Site	New Emp to District	Duties	Division	Hourly Rate	Maximum		/laximum Amount	Assign Beg. Date	Assign End Date
Evans-Mc Williams	Gwendolyn	Y.	Chabot	No	Provide training for the PRIDE programs' foster parents	Foster and Kinship Care Education	\$ 50.00	72	\$	3,600.00	1/4/2016	6/30/2016
Faulkner	Madison	M.	Chabot	No	Teach swimming clinic to students	Health, Physical Education and Athletics	\$ 15.00	60	\$	900.00	1/1/2016	6/30/2016
Gholar	Anita	M.	Chabot	No	Provide PRIDE training for the Foster and Kinship Care Education Program	Foster and Kinship Care Education	\$ 65.00	72	\$	4,680.00	1/4/2016	6/30/2016
Gillian	Matthew	S.	Chabot	No	Provide specialized services for the Performing Arts Center	Arts, Humanities, and Social Sciences	\$ 16.00	650	\$ 1	10,400.00	1/1/2016	6/30/2016
Grantham	Carl	J.	Chabot	No	Provide specialized services for the Performing Arts Center	Arts, Humanities, and Social Sciences	\$ 16.00	675	\$ 1	10,800.00	1/1/2016	6/30/2016
Haney	Victoria	Α.	Chabot	No	Develop and implement curriculum enrichment workshops and courses for Chabot's Hayward Promise Neighborhood mentorship program	Hayward Promise	\$ 30.00	150	\$	4,500.00	1/4/2016	6/30/2016

### Informational Report for the February 16, 2016, Board of Trustees Meeting

				New Emp to			Hourly		Maximu	m Assign	Assign
Last Name	First Name	MI	Site	District	Duties	Division	Rate	Maximum	Amou	nt Beg. Date	End Date
Harrell	Dorothea	nmi	Chabot	No	Provide support for offsite child care facilities	Foster and Kinship Care Education	\$ 22.00	200	\$ 4,400.	00 1/4/2016	6/30/2016
Harvey	Nicholas	R.	Chabot	No	Teach swimming clinic	Health, Physical Education and Athletics	\$ 15.00	60	\$ 900.	00 1/1/2016	6/30/2016
Hernandez	Janett	nmi	Chabot	No	Provide support development, coordination, and Spanish translation for PRIDE workshops	Foster and Kinship Care Education	\$ 20.00	60	\$ 1,200.	00 1/4/2016	6/30/2016
Hill, Jr.	James	A.	Chabot	No	Provide project services for television station operations	Arts, Humanities, and Social Sciences	\$ 17.00	650	\$ 11,050.	00 1/1/2016	6/30/2016
Jones-Rasberry	Lois	E.	Chabot	No	Provide training and coordination support for the CARI, Foster and Kinship Care Education, and PRIDE Programs	Foster and Kinship Care Education	\$ 50.00	450	\$ 22,500.	00 1/4/2016	6/30/2016
Kollias	Patricia	nmi	Chabot	No	Provide specialized services for the Performing Arts Center	Arts, Humanities, and Social Sciences	\$ 17.00	650	\$ 11,050.	00 1/1/2016	6/30/2016

## Informational Report for the February 16, 2016, Board of Trustees Meeting

Last Name	First Name	МІ	Site	New Emp to District	Duties	Division		Hourly Rate	Maximum		Maximum Amount	Assign Beg. Date	Assign End Date
	Maliana	.,	Objekt	N	Perform specialized services for projects for the Career Pathways Trust	Academic	Φ.	00.00	107.5	Φ.	0.750.00	4/4/2040	0/00/0040
Landeros  Macias, Jr.	Melissa Rodolfo	V.	Chabot	No No	Provide specialized services and support for Chabot basic skills math program	Science & Math/Learning Connection	\$	20.00	437.5 650	\$	8,750.00 14,300.00	1/4/2016	6/30/2016
Martin	Joseph	E.	Chabot	No	Provide project services for television station operations	Arts, Humanities, and Social Sciences	\$	20.00	650		13,000.00	1/1/2016	6/30/2016
Millington	Chilopie	nmi	Chabot	No	Provide specialized services for the Daraja Program	Disabled Student Programs and Services	\$	18.00	158	\$	2,844.00	11/15/2015	12/31/2015
Millington	Chilopie	nmi	Chabot	No	Provide specialized services for the Daraja Program	Disabled Student Programs and Services	\$	18.00	437.5	\$	7,875.00	1/4/2016	6/30/2016
Naraghi	Khashayar	F.	Chabot	No	Provide editing and filming project services for television station operations	Arts, Humanities, and Social Sciences	\$	25.00	350	\$	8,750.00	1/1/2016	6/30/2016

### Informational Report for the February 16, 2016, Board of Trustees Meeting

				New Emp to			Hourly		Maximum	Assign	Assign
Last Name	First Name	MI	Site	District	Duties	Division	Rate	Maximum	Amount	Beg. Date	End Date
Orviss	Donna	L.	Chabot	No	Provide training on health-related and infant health subjects for CARI and FKCE	Foster Kinship Care Education	\$ 100.00	15	\$ 1,500.00	1/4/2016	6/30/2016
Otto	Luzemilia	nmi	Chabot	No	Provide training for the PRIDE programs' foster parents	Foster and Kinship Care Education	\$ 50.00	72	\$ 3,600.00	1/4/2016	6/30/2016
Page	Thema	S.	Chabot	No	Provide training for the PRIDE programs' foster parents	Foster and Kinship Care Education	\$ 65.00	72	\$ 4,680.00	1/4/2016	6/30/2016
Paiz	Robert	L.	Chabot	Yes	Provide specialized services for the Performing Arts Center	Arts, Humanities, and Social Sciences	\$ 16.00	350	\$ 5,600.00	2/1/2016	6/30/2016
Perez-Tejeda	Sandra	J.	Chabot	No	Provide project services for television station operations	Arts, Humanities, and Social Sciences	\$ 20.00	650	\$ 13,000.00	1/1/2016	6/30/2016
Powell	Yvette	L.	Chabot	No	Provide specialized services for PRIDE classes	Foster and Kinship Care Education	\$ 20.00	325	\$ 6,500.00	1/4/2016	6/30/2016
Powell	Yvette	L.	Chabot	No	Provide specialized services for PRIDE classes	Foster and Kinship Care Education	\$ 20.00	34	\$ 680.00	11/16/2015	12/23/2015
Rukiya	Isoke	nmi	Chabot	No	Provide specialized services for the Performing Arts Center	Arts, Humanities, and Social Sciences	\$ 16.00	650	\$ 10,400.00	1/1/2016	6/30/2016

## Informational Report for the February 16, 2016, Board of Trustees Meeting

Last Name	First Name	МІ	Site	New Emp to District	Duties	Division	Hourly Rate	Maximum	Maximum Amount	Assign Beg. Date	
Sannebeck	Daniel	A.	Chabot	No	Provide specialized projects for the TV Studio	Arts, Humanities, and Social Sciences	\$ 15.00	300	\$ 4,500.00	1/1/2016	6/30/2016
Sechrist	Connie	J.	Chabot	No	Provide specialized projects for the TV Studio	Art, Humanities, and Social Sciences	\$ 35.00	300	\$ 10,500.00	10/1/2015	12/31/2015
Sechrist	Connie	J.	Chabot	No	Provide specialized projects for the TV Studio	Art, Humanities, and Social Sciences	\$ 35.00	650	\$ 22,750.00	1/1/2016	6/30/2016
Wolfe	John	A.	Chabot	No	Provide specialized services for the Performing Arts Center	Arts, Humanities, and Social Sciences	\$ 16.00	650	\$ 10,400.00	1/1/2016	6/30/2016

### Informational Report for the February 16, 2016, Board of Trustees Meeting

				New Emp to				Hourly			Maximum	Assign	Assign
Last Name	First Name	МІ	Site	District	Duties	Division		Rate	Maximum		Amount	Beg. Date	End Date
Las Positas College - C	ommunity Ed	ucation	ı		ı	1						<u> </u>	
						Community							
Brown	Candace	E.	Las Positas	No	Teach music classes	Education	\$	40.00	100	\$	4,000.00	2/1/2016	6/30/2016
Crosetti	John	A.	Las Positas	No	Teach language classes	Community Education	\$	30.00	50	\$	1,500.00	2/1/2016	6/30/2016
Crosetti	301111	Λ.	Las i Ositas	140	Teach parenting	Community	Ψ	30.00	30	Ψ	1,500.00	2/1/2010	0/30/2010
Dozier	Thomas	H.	Las Positas	No	classes	Education	\$	30.00	50	\$	1,500.00	2/1/2016	6/30/2016
Farber	Jennifer	L.	Las Positas	No	Teach computer application classes	Community Education	\$	30.00	50	\$	1,500.00	2/1/2016	6/30/2016
					Teach wellness and physical activity	Community							
Kutil	Craig	A.	Las Positas	No	classes	Education	\$	30.00	200	\$	6,000.00	1/4/2016	6/30/2016
Ligon	Jack	L.	Las Positas	No	Teach photography classes	Community Education	\$	40.00	75	\$	3,000.00	2/1/2016	6/30/2016
Moyer	Aida	G.	Las Positas	No	Teach Spanish classes	Community Education	\$	50.00	50	\$	2,500.00	1/4/2016	6/30/2016
Roberts	Mark	A.	Las Positas	No	Teach art classes	Community Education	\$	30.00	25	\$	750.00	3/1/2016	6/30/2016
Salmonson	Jay	D.	Las Positas	No	Teach engineering/robotics classes	Community Education	\$	30.00	25	\$	750.00	2/1/2016	6/30/2016
Camonson	ouy		Lao i conac	110	Gladood	Community	Ψ	00.00	20	Ψ	700.00	2/1/2010	0/00/2010
Saltsman	Nancy	E.	Las Positas	No	Teach art classes	Education	\$	30.00	50	\$	1,500.00	2/1/2016	6/30/2016
Valverde	Luis	nmi	Las Positas	No	Teach fitness classes	Community Education	\$	30.00	50	\$	1,500.00	2/1/2016	6/30/2016
Wagenblast	Kathryn	M.	Las Positas	No	Teach wellness and physical activity classes	Community Education	\$	30.00	50	\$	1,500.00	2/1/2016	6/30/2016

### Informational Report for the February 16, 2016, Board of Trustees Meeting

				New Emp to				Hourly			Maximum	Assign	Assign
Last Name	First Name	MI	Site	District	Duties	Division		Rate	Maximum		Amount	Beg. Date	End Date
Las Positas College	T	I	I	I	ı	1	ı					1	
Bracey	Charles	E.	Las Positas	No	Provide training workshops for the Foster and Kinship Care Education (FKCE) program for foster parents	Foster and Kinship Care Education	\$	50.00	100	\$	5,000.00	1/1/2016	6/30/2016
Canady	Karen	M.	Las Positas	No	Conduct PRIDE series bi-lingual workshops for prospective foster parents per Foster and Kinship Care Education (FKCE)	Foster and Kinship Care Education	\$	65.00	100	\$	6,500.00	1/1/2016	6/30/2016
Colburn	Matthew	W.	Las Positas	No	Provide skills coordination for the National Registry Exam and Training Center	Science, Technology, Engineering, Math & Public Safety	\$	25.00	200	\$	5,000.00	1/1/2016	6/30/2016
Edward	Danielle	R.	Las Positas	No	Provide certification and pre-accreditation documentation for Paramedic Program	Science, Technology,	\$	15.00	150	·	2,250.00	1/1/2016	6/30/2016
Edward	Danielle	R.	Las Positas	No	Provide lab coordination for the Emergency Medical Services program	Science, Technology, Engineering, Math & Public Safety	\$	15.00	150	\$	2,250.00	1/1/2016	6/30/2016

### Informational Report for the February 16, 2016, Board of Trustees Meeting

Last Name	First Name	МІ	Site	New Emp to District	Duties	Division	Hourly Rate	Maximum	Maximum Amount	Assign Beg. Date	Assign End Date
Evans-Mc Williams	Gwendolyn	Υ.	Las Positas	No	Provide PRIDE training for the Foster and Kinship Care Education Program		\$ 50.00	100		1/1/2016	6/30/2016
Gecox	Heike	nmi	Las Positas	No	Conducts workshops for parents and caregivers	Foster and Kinship Care Education	\$ 50.00	100	\$ 5,000.00	1/1/2016	6/30/2016
Gholar	Anita	M.	Las Positas	No	Provide PRIDE training for the Foster and Kinship Care Education Program	Foster and Kinship Care Education	\$ 65.00	100	\$ 6,500.00	1/1/2016	6/30/2016
Gourley	Regina	A.	Las Positas	No	Facilitate expanded and comprehensive assessment services and provide outreach services to students		\$ 30.00	400	\$ 12,000.00	1/4/2016	6/30/2016
Gross	JoAnne	nmi	Las Positas	No	Coordinate with high school resource programs to successfully transition students to LPC	Disabled Student Programs and Services	\$ 25.00	400		1/4/2016	6/30/2016
Hauser	Gerry	A.	Las Positas	No	Provide PRIDE training for the Foster and Kinship Care Education Program	Foster and Kinship Care Education	\$ 50.00	100	\$ 5,000.00	1/1/2016	6/30/2016

### Informational Report for the February 16, 2016, Board of Trustees Meeting

Last Name	First Name	MI	Site	New Emp to District	Duties	Division	Hourly Rate	Maximum	Maximum Amount	Assign Beg. Date	Assign End Date
Holback	Richard	A.	Las Positas	No	Provide lab coordination for the Paramedic Program	Science, Technology, Engineering, Math & Public Safety	\$ 50.00	140	\$ 7,000.00	1/1/2016	6/30/2016
Holback	Richard	A.	Las Positas	No	Provide program skills coordination for the Paramedic Program	Science, Technology, Engineering, Math & Public Safety	\$ 25.00	150	\$ 3,750.00	1/1/2016	6/30/2016
Ingold	Amanda	D.	Las Positas	No	Provide project assistance for Equity Plan	Student Services	\$ 20.00	200		1/4/2016	6/30/2016
Loyola	Anne	L.	Las Positas	No	Provides coordination and training for the Foster and Kinship Care Education Program	Early Childhood Development	\$ 50.00	700	\$ 35,000.00	1/1/2016	6/30/2016
Montalvo	Debra	J.	Las Positas	No	Provide job development support for disabled students	Disabled Student Programs and	\$ 24.00	650	\$ 15,600.00	1/4/2016	6/30/2016
Moorhead	Jane	A.	Las Positas	No	Provide services as a program trainer for the Paramedic Program	Science, Technology, Engineering, Math & Public Safety	\$ 75.00	150	\$ 11,250.00	1/1/2016	6/30/2016

### Informational Report for the February 16, 2016, Board of Trustees Meeting

Last Name	First Name	MI	Site	New Emp to District	Duties	Division	Hourly Rate	Maximum	Maximum Amount	Assign Beg. Date	Assign End Date
Nalls	Rosalind	A.	Las Positas	No	Provide PRIDE training for the Foster and Kinship Care Education Program	Foster and Kinship Care Education	\$ 65.00	100	\$ 6,500.00	1/1/2016	6/30/2016
Neuerburg	Ryan	Т.	Las Positas	No	Provide program skills coordination for the Paramedic Program	Science, Technology, Engineering, Math & Public Safety	\$ 25.00	200		1/1/2016	6/30/2016
Page	Thema	S.	Las Positas	No	Provide training workshops for the Foster and Kinship Care Education (FKCE) program for foster parents	Foster and Kinship Care Education	\$ 65.00	100		1/1/2016	6/30/2016
Pettis	Kelly	J.	Las Positas	No	Provide support and accommodations to students	Disabled Student Programs and Services	\$ 23.00	500	\$ 11,500.00	1/4/2016	6/30/2016
Sant	Stuart	E.	Las Positas	No	Provide program skills coordination for the Paramedic Program	Science, Technology, Engineering, Math & Public Safety	\$ 25.00	200	\$ 5,000.00	1/1/2016	6/30/2016
Stewart-Felix	Paula	D.	Las Positas	No	Provide PRIDE training for the Foster and Kinship Care Education Program	Foster and Kinship Care Education	\$ 50.00	200	\$ 10,000.00	1/1/2016	6/30/2016

### Informational Report for the February 16, 2016, Board of Trustees Meeting

Last Name	First Name	MI	Site	New Emp to District	Duties	Division	Hourly Rate	Maximum	Maximum Amount	Assign Beg. Date	Assign End Date
Vazquez	Akilah	V.	Las Positas	No	Provide PRIDE training for the Foster and Kinship Care Education Program	Foster and Kinship Care Education	\$ 65.00	100	\$ 6,500.00	1/1/2016	6/30/2016
Wada	David	S.	Las Positas	No	Provide services as a program trainer for the Paramedic Program	Science, Technology, Engineering, Math & Public Safety	\$ 75.00	175		1/1/2016	6/30/2016
Wada	David	S.	Las Positas	No	Provide clinicial rotation for the Paramedic Program	Science, Technology, Engineering, Math & Public Safety	\$ 60.00	100	\$ 6,000.00	1/1/2016	6/30/2016
Wada	David	S.	Las Positas	No	Provide lab coordination for the Paramedic Program	Science, Technology, Engineering, Math & Public Safety	\$ 50.00	140	\$ 7,000.00	1/1/2016	6/30/2016
Wada	David	S.	Las Positas	No	Provide program skills coordination for the Paramedic Program	Science, Technology, Engineering, Math & Public Safety	\$ 25.00	100	\$ 2,500.00	1/1/2016	6/30/2016
Weissman	Ryan	N.	Las Positas	No	Provide program skills coordination for the Paramedic Program	Science, Technology, Engineering, Math & Public Safety	\$ 25.00	200	\$ 5,000.00	1/1/2016	6/30/2016

### Informational Report for the February 16, 2016, Board of Trustees Meeting

Last Name	First Name	мі	Site	New Emp to District	Dutios	Division	Hourly Rate	Maximum	Maximum Amount	Assign Beg. Date	Assign End Date
Wells	Karen	R.	Las Positas	No	Conducts workshops for parents and caregivers		\$ 75.00	100		1/1/2016	6/30/2016
Williams	Mosi	O.	Las Positas	No	Provide accommodations support to students with disabilities	Disabled Student Programs and Services	\$ 50.00	400		1/4/2016	6/30/2016
Willson	Robert	I.	Las Positas	No	Provide skills evaluation and assessment for Fire Service Technology Program	Science, Technology, Engineering, Math & Public Safety	\$ 15.00	150	\$ 2,250.00	1/1/2016	6/30/2016
Wong	Sebastian	E.	Las Positas	No	Provide services as a program trainer for the Paramedic Program	Science, Technology, Engineering, Math & Public Safety	\$ 75.00	75	\$ 5,625.00	1/1/2016	6/30/2016
Wong	Sebastian	E.	Las Positas	No	Provide program skills coordination for the Paramedic Program	Science, Technology, Engineering, Math & Public Safety	\$ 25.00	50	\$ 1,250.00	1/1/2016	6/30/2016
Wong	Sebastian	E.	Las Positas	No	Provide coordination for the Paramedic Program	Science, Technology, Engineering, Math & Public Safety	\$ 75.00	350	\$ 26,250.00	1/1/2016	6/30/2016

## Informational Report for the February 16, 2016, Board of Trustees Meeting

Last Name	First Name	MI	Site	New Emp to District	Duties	Division		ourly Rate	Maximum	Maximum Amount	Assign Beg. Date	_
Wong	Sebastian	E.	Las Positas		Provide lab coordination for the Paramedic Program	Science, Technology, Engineering, Math & Public Safety	\$ 5	50.00	50	\$ 2,500.00	1/1/2016	6/30/2016
District Office												
Jones	Akeba	J.	District	No	Provide specialized projects to the OSHA Training Center	Contract Education	\$	18.00	700	\$ 12,600.00	1/4/2016	6/30/2016